（1P14）電子學(概要)(97年3月6日六版二刷)增補資料
P.242第三題解析增補

Q1之VGS1 = 1V
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ID1 = 4×10-3×(1-0.5)2 = 1mA

(一)V3 = 2V時，Q3 OFF
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ID2 = ID1 = 
[image: image3.wmf]3
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   ∴V0 = 4V
   驗證：4×10-3×(V2 – VD1 -0.5)2 = 10-3 
[image: image4.wmf]Þ

VD1 = 2V

         VGS3 = V3 – VD1 = 0V < Vt 故Q3 OFF成立

(二)V3 = 3V時，ID2 = ID3 = 
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   ∴V0 = 4.5V

(三)V3 = 4V時，Q2 OFF

∴V0 = 5V

驗證：4×10-3×(V3 – VD1 -0.5)2 = 10-3 
[image: image7.wmf]Þ

VD1 = 3V

         VGS2 = V2 – VD1 = 0V < Vt 故Q2 OFF成立

P.271第四題解析接續增補
gm = 
[image: image8.wmf]4
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RO = rO[1+gm(rπ//RE)]=13.5MΩ
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